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Instructions : All questions are compulsory.
(i) T HEE 1 R & 7 ey IHIA T @ | TIF T W1 3t Efea &
YA & I 1 TR sga 1 A § Afd)
Question Nos. 1 to § arc very short answer type questions. Each
question carries | mark. Answer should be given in / word or /
scntence.
(iif) T3 FHIF 6 T 10 T Yeirh WA W 2 3 Hyfed § | (R-WA 30 9=)
Question Nos. 6 to 10 carry 2 marks cach. (Word-limit 30 words)
(iv) WA FAF 117 22 9% TS 979 W 3 37 Awfed & | (7= -|m S0 T=R)
Question Nos. 11 to 22 carry 3 marks cach. (Word-limit 50 words)
(v) ¥R FUIE 23 W 4 & syrafea § 1 (=269 70 A1)
Question No. 23 carries 4 marks. (Word-limit 7 words)
(vi) Y7 WU 24 B 26 % TAF YR W S 3w @Efa €1 (FR-€
100 II=)
Question Nos. 24 1o 26 carry S marks each, (Word-limit /00 words)
(vif) T SETEF T, 6 @ @ TWifEa o 7ad
Draw clean and labelled diagram wherever necessary.
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People working in coal mines usc activated charcoal in gas mask, why?

What is called absolute alcohol?

el st @ )

What is Fehling's rcagent?

NH; T8 40 #1 7 o e €, i 2
Why NI 15 acts as Lewis base?

qul < &I % M fau e € - & RNA 1 v 755
Iqfram & 2
() wrgima
(i) Qo=

Here two names of bascs are given. Which base

-|1 &I DNA °

IS present in RNA
and which basc is present in DNA?

(i) Thymine
(ii) Uracil

AFem (NHL,CONI,L) & 0.25 Ao 2.5 kg wieitg foaergy R
AL R F FSOE FI Mo wifag )
Calculate the mass of urca (NH,CONH

[ & fern

3) required in making 2.5 kg
of 0.25 molar aqueous solution.

Z-fuftas 92 =i |mEng

Explain rate-determining step.
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_:FEﬁE” TR T R ¥ 5 ferg N, a4 0, % M w He a1 0,
S
€a divers use a mixture of Ie and O, in place of N, and O, for
respiration in deep sea, why?
wI1-9 tmfa—-q-q[ﬁ-;{ R .
S Sufir =1 sew wfea wam (2]
Explain carbylamine reaction with example.
TI-10 TS (wER-uEE) @ s 3 xs
h (TR~ ) B WH-wdR (vfua-uih) 3 e w2 [2)
How aminoethane (cthylamine) will be obtained from cthanamide
(acctamide)?
WI-11 TR = 3w @ & ? 9 1fonim =i wma S [1+2=3]
What is Raoult's law? Derive its mathematical cxXpression.
T-12 A, 9ym aw fgda wife afvfisa & fog 3 feniw (k) %1 35 7@
IS | [1+141=3]
Determiune the unit of rate constant (k) for zero, first and sccond
order reaction.
w7A-13 3T e | 6§ sia fafau) (3]
Write three differences between adsorption and absorption.
wr3-14  HNO, ¥ fimfo %1 sineares fafu @ avty fr= fagsil & snur v i :
(i) fagi wd TaEfTE qEET (1a+1%=3]
(i) =wifea 3
Describe Ostwald’s method of manufacture of HINO; on the basis of
the following points :
(i) Theory and chemical recaction
(ii) Labelled diagram
S-S Hew o fEl A aHfa- ST & AW S HTT A e | [1+1+1=3]
Write the names and structural formulac of any three oxy-acids of sulphur.
P.T.O.
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frefafaa Iggegar s 5 IUPAC = fafau
(i) Nay[Ni(CN),]

[1+

(if) [PtCly)*

(iii) [Cr(NH;),Cl4)

Write the IUPAC names of the following coordination compounds :
(1) Nay[Ni(CN),]

(i) [PLCly)?-

(1if) [Cr(N3),Cl;5)

HIHIHThIH 91 QU - AT wTw Frm =) Seme So auEet |
Explain Markovnikov and anti-Markovnikov rule with example.
famr o fafu gro mufus, fadas @& qiras ceaeta 4 faive =ifm
(wdiae afed) |

Differentiate primary, secondary and tertiary alcohol by using Victor .
Meyer mecthod with equations.

T & sfufrand e faad wieta =it 3T Wepfa wefifa we & [1Y+
Give two reactions that show the acidic nature of phenol,
frerfafaa w2l @ 3 0 T9Fd ¥ ? Tl w390 e
(/) wrEETETEiEa
(i) TSI

[1Y%+

What do you understand by the following terms? Give an example of

the reaction in each casc :
(i) Cyanohydrin

(ii) Semicarbazone

NM-398B




7-21

wi-22

yei-23

wyA-24

a

151

(3 wmé,mmmﬁmﬁmm%?
(a)ﬂﬁm%.m%mﬁfa‘uaﬁﬁ:ﬁwmﬁﬂzmmuﬁ |
w0 ¥ ? [1+1%=

(@) What happens when acctaldchyde reacts with Tol
d with calcium formate?

len's rcagent?

(b) What happens when calcium acetate is hcate
WreR Wer aon iR WA 1 4 =R fafaa [1+1+]=
Write three differences between globular and fibrous protcin.

[242=

frefafaa gl & W 9 fasR HITAY :
(i) Torea oos @ &S FIfEH
(ify =qurersa fife @ areradg i
Distinguish between the following pairs :
(/) Crystal lattice and Unit cell
(if) Tetrahedral void and Octahedral void

Jrerar
OR

W—mm(ﬁc.c.}ﬁﬂﬂf?mmmlwﬁaﬁ
TETA T HEA A HFAC

What is face-centered cubic (f.c.c.) cell? Explain with diagram.
Calculate the number of atoms in unit cell.

frafafan  sfvfemeiil = wweme (Fae ARG wHEEW
fafay) : [1x5:
() Ufgfeciat

(i) famatiaaeisa

(7ii) wEa-wey fufiwa

(iv) fore afvfea

(v) FHTET AGETA

NM-39B
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ite only chemical cquauons) :

Explain the following reactions (wr
(i) Acctylation
(i) Decarboxylation
(éii) Friedel-Crafts rcaction
(iv) Schmidt reaction
(v) Clemmensen reduction
gqr
OR
3 Fefafan wml =) sfusay 2 =i 9 ffg yo) 909 01 ?
() WETE | WeR
(i) A~ERETEE A AAEHEE
(éii) IR F 3-TgRiRTE
(iv) S0z a1 @ Hicdhene
(v) HIESE § 1- Sl

How will you bring about the following conversions

2 e S 18 not more than
(/) Propanone to propenc

(i) Benzaldehyde 1o benzophenone

(i) Ethanol 1o J-hydrox)rhutanal

(iv) Benzoic acid 1o bcnzaldehydc

(v) Bromobenzene 1o I-phcnylelha |
no
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5 e Fram on 2 2 3 fel & oryam | auee [3+2=5]

What is Kohlrausch's law? Explain its any two applications.

e
OR

widw afufEm w1 3ewn wfea T fafre wrea @ HRr
“TeRal T uiuTn T 3 fafaa)

Explain the redox reaction with cxample. Write the definition and

73-26

unit of the specific conductance and molar conductance.
FUAES MHEE F 2 S AT & & FRw e 2 uftomm
fafaa; [14242=3)

What is lanthanoid contraction? Write two causes and two

conscquences of lanthanoid contraction.

Hyar

OR

ool we (-7 o) fal wed € 2 o wfe wnwee—
(i) HHT MTY, Al IH STUE Afirr ST €

(ii) EHH gy WE: i A T ¥ )
\What are transition elements (d-block clements)? Explain giving reasons-

(i) transition metals and many of their compounds show

paramagnetic behaviour,

(i) transition metals generally form the coloured compounds.




